
1 次の計算をして、答えは仮分数で表しましょう。

2 1
① 5 − 2 ＝

3 3

3
＝

5 5

日にち：　　　月　　　日

名まえ

＝
9 9
4 2

③ 2 − 1

1
− 24②

6
− 2 ＝

8 8
④ 4

3

3
② 5 − 3

2

2
① 3 − 1

7

次の計算をして、答えは真分数か仮分数で表しましょう。

＝
8

5
③ 4 − 2 ＝

9

＝

⑪ 仕上げ

11



＝
9 9

日にち：　　　月　　　日

名まえ

1 次の計算をして、答えは仮分数で表しましょう。

2 1
① 5 − 2 ＝

3 3

1 3
② 4 − 2 ＝

2

2
① 3 − 1 ＝

8

− ＝
8 8

5 5

4 2
③ 2 − 1

8

③ 4 − 2 ＝
9

7 6
④ 4 − 2 ＝

3

3
② 5 − 3

8 8

＝

8
− ＝

5 5 5

7
− ＝

3 3 3

− ＝
9 9 9

4
− ＝

3 3 3
9 5

− ＝
9 9 9

− ＝
8 8 8

次の計算をして、答えは真分数か仮分数で表しましょう。

5

⑪ 仕上げ 答え

11

17 10

21 13

22 11 11

39 22 17

40 27 13

36 23 13


